CBAPOYHbIE TOPEJ/IKU | TIG

44

NMEPEXOOHUKWN

MEPEXOAHUNKHA
APTUKYNl  HAVMEHOBAHUE Bec, r* (';°;r'l"a”$;:;
1ZT5064 MNepexoAHnK M14x1-1/4G 441 10
1ZT5073 MepexoaHuk 3/8G-1/8G 42,0 10
1ZT5074 MNMepexoaHnk 3/8G-1/4G 38,3 10
1ZT5090 MNepexoaHnkK 3/8G-M12x1 38,6 10
1ZT5094 MNepexoaHnkK M14x1-M12x1 45,9 10
1ZT5605 MepexoaHnk M12x1-1/4G 33,9 10
1ZT5601 MepexogHnk M12x1-3/8G 35,9 10
1ZT5660 MepexoaHuk M12x1-M10x1 20,6 10
1ZT5607 MepexogHnk M12x1-M16x1,5 28,1 10
1ZT5678 MepexoaHuk 1/4G-3/8G 36,8 10
1275679 MepexoaHVK 1/4G-M14x1 38,7 10
1ZT5686 MepexoaHuk 1/8G-3/8G 373 10
1ZT5681 MNepexoaHnk 1/8G-M12x1 34,5 10
1SQ6062 MNepexoaHuk 3/8G-OKC (Boga) 143,4 10
LWTYUEPDI
APTUKYNl  HAVMEHOBAHUE Bec, r* (';°;r'l"a”KiC;:;
ITY8070 LTtyuep 3/8G (26) 33,8 10
ITY8065 LWtyuep 3/8G (@9) 39,6 10
ITY8061 LWTyuep 3/8G (@10) 41,6 10
ITY0056 Ltyuep M10x1 (@9) 17,3 10
ITY8064 LWryuep M12x1 (@6) 25,9 10
ITY0016 LWtyuep M12x1 (29) 31,3 10
ITY8087 LTtyuep M12x1 (@10) 25,4 10
ITY0052 LWtyuep M16x1,5 (@9) 39,6 10
ITY0053 LWTyuep M16x1,5 (210) 42,5 10
COEAVNHUTENN
APTUKYNl  HAVMEHOBAHVE Bec, r* ('l(:)’,‘:'a"l(eoc;:;
1ZT8070 B/p (6bICTpOCHEM) 7,6 10
1ZT8095 CoeguHuTens (26 mm) 52,0 10
1ZT8091 CoeguHuTenb (08 MMm) 53,2 10
1ZT8092 CoegunHuTens (210 Mm) 54,0 10
BUTKN, PO3ETKH
APTUKY/I  HAVMEHOBAHVE S;V'I 35' A, Kacg:}f;"::M
1SQ0080 MNMaHenbHas posetka 10-25 9 32 200 10-25
ISQ0053 MNaHenbHas posetka 35-70 13 38 400 35-70
1SQ0054 MNMaHenbHas posetka 70-95 13 39 500 70-95
APTUKY/l  HAMMEHOBAHWE S;V'I 35' A, Kacg:}f;"::M
1ISQ0060 MaHenbHasa Buaka 10-25 9 32 200 10-25
1SQ0027 MaHenbHas Buaka 35-50 13 41 400 35-50
1SQ0028 MaHenbHas Bunka 70-95 13 41 500 70-95
APTUKY/l  HAMMEHOBAHWE 2, a (SRS
MM max  Kabens, MM
1ISQ0070 KabenbHas Bunka 10-25 9 200 10-25
ISQ0077 KabenbHas Buaka 35-50 13 400 35-50
1SQ0078 KabenbHas Bunka 70-95 13 500 70-95
Konnuectso
APTUKYN HANMEHOBAHUE (8 ynakoeke)
1ISQ0030 KabenbHas Bunka 35-50 + 6/p (Boaa/ras) 40
1SQ0040 KabenbHas Bunka 10-25 + 6/p (Boaa/ras) 40
APTUKYNl  HAVMEHOBAHUE 2, a NSRS
MM max  Kabens, MM
1SQ0090 KabenbHas poseTka 10-25 9 200 10-25
1SQ0097 KabenbHas posetka 35-50 13 400 35-50
1SQ0098 KabenbHasi poseTtka 70-95 13 500 70-95

* ponyck £5%

M14x1 3/8G M12x1 1/4G 1/8G
lﬂi g " % l‘ L h
1/4G M12x1 3/8G 3/8G M12x1
1275064 1ZT5090 1ZT5601 1275678 1275681
3/8G M14x1 M12x1 1/4G 3/8G
& Y
1/8G M12x1 M10x1 M14x1
1275073 1275094 1275660 1275679 15Q6062
3/8G M12x1 M12x1 1/8G
1/4G 1/4G M16x1,5 3/8G
1215074 1ZT5605 1215607 1275686
@10 29 310 @9 @9
# F
a
* i
H
4 b - = e
3/8G 3/8G M12x1 M12x1 M16x1,5
ITY8061 1ITY8065 ITY8087 1ITY0016 ITY0052
026 29 26 210
_ !
'F n P
F e *1
3/8G M10x1 M12x1 M16x1,5
1TY8070 ITY0056 ITY8064 ITY0053
26 26 @210

gtitess k= M= =

1ZT8070 1ZT8091 1ZT8095 1278092
- 0,
| [ B o,
. o,
: - - 2,
=iy l ' W
. - T
Q1
Mex2s M8x1,25 Mi2x1
1SQ0030 1SQ0040




